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A= 200,000 192,000 8,000
FHOHE &8 71,400 64,800 6,600
HASEE FHUHY T2 (FEAH) 71,400 64,800 6,600
=0IFE O FRUHFE 242 5,400 4,800 600
201 B2 AY| 5,400 4,800 600
01 A=R2teld| 5,400 4,800 600
ABt=ZH| 400,000& = 12o1 & 4,800
S22 I=H| 300,000& »23! 600
ZO0HD|OHLIE 22| 66,000 60,000 6,000
201 LB-2AY| 66,000 60,000 6,000
02 32| 66,000 60,000 6,000
2323 & HAl 2,500,000& =120 & 30,000
ANEEH| |XIH 2,500,000& = 1200 & 30,000
A & ZAH| 1,500,000 43| 6,000
NWees 128,000 125,000 3,000
BN E(FHUEL)(FHA) 128,000 125,000 3,000
RYU==E MEES B 128,000 125,000 3,000
802 Brat30|Et 128,000 125,000 3,000
03 J|EtEtE 3 S 128,000 125,000 3,000
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2,000,000 x64= 128,000
(1=} 600 2,200 A1,600
ololbl(F=EAIY) 600 2,200 21,600
olulBl (F=EA) 600 2,200 21,600
801 oilgId| 600 2,200 A1,600
01 B0l 600 2,200 21,600
(1Sl 600,000& 600




